

STAFF SUMMARY SIGNATURE PAGE

<input type="checkbox"/> Secretary Approval	<input checked="" type="checkbox"/> MassDOT Board Approval	Prepared by: Alina Daragan	
Department: Highway Division	Program Manager: John J. Bechard	email: john.bechard@dot.state.ma.us	Telephone: 508-751-1755
Contract No./Subject: 613921-132904 BOSTON- Bridge Deck Preservation of B-16-259 and B-16-260 on I-93		Date Prepared: 12/16/2025	
Implications			
<input checked="" type="checkbox"/> Capital Budget	<input type="checkbox"/> Operating Budget	<input type="checkbox"/> Legal	<input type="checkbox"/> Other

PURPOSE:

The purpose of this Staff Summary is to request that the Board of Directors authorize and approve the Secretary/CEO, or his designee, to execute MassDOT Contract No. 613921-132904 titled Boston: Boston-Bridge Deck Preservation of B-16-259 and B-16-260 on I-93, for Bridge Preservation, with McCourt Construction Co INC, for the amount of \$16,699,051.25 for a total duration, not to exceed nine hundred twenty two (922) days from Notice to Proceed (NTP).

TOTAL PROGRAM BUDGET:

The total program budget of \$20,816,076.37, which includes the following:

Bid Amount	\$16,699,051.25
Contingencies	\$1,669,905.12
Railroad Flaggers	\$1,515,520.00
Traffic Police	\$649,320.00
Traffic Police OT/ Non-Participating	\$278,280.00
Trainees	\$4,000.00
Total	\$20,816,076.37

DISCUSSION:

The award of Contract No.132904 titled Boston - Bridge Deck Preservation of B-16-259 and B-16-260 on I-93, will address the need of the bridge deck joints repair/replacement, concrete deck repairs and full replacement of the wearing surface with the waterproofing mix. The project also includes repair of the bridge barriers and parapets, and cleaning and repair of the drainage system.

Both structures, Bridge B-16-259 (3EC, 3EJ, 3EH) and Bridge B-16-260 (3DN), are located in the southern part of the City of Boston. The bridges were built in 1958; the decks widening and replacement was performed in 1984.

Bridge B-16-259 (3EC) is oriented North - South and carries I-93 Northbound and Southbound over Columbia Road and the MBTA Railroad (Red Line). The overall length of approximately 1531 feet and an overall width of approximately 111 feet. The structure has a curb-to-curb width of 104 feet and carries eight lanes, four in each direction, no sidewalks. The bridge superstructure consists of 23 simply-supported spans comprised of three hundred and fifty five (355) steel rolled-beams supporting the reinforced concrete deck. The substructure consists of two reinforced concrete abutments and wingwalls at all four corners supported by concrete piles, and 8 double steel bents and 14 single steel bents supported by reinforced concrete pile cap (rigid frame legs).

Based on the October 10, 2022, Routine Inspection Report, the existing deck is in satisfactory condition, the existing superstructure is in fair condition, with paint and coating in poor condition; and the existing substructure is in fair condition.

B-16-259 (3EJ)- The bridge is oriented North – South and carries I-93 Northbound Off-Ramp (Exit 14), over Comb MBTA Red Line & Relief. The overall length of approximately 410 feet and an overall width of approximately 30 feet. The structure has a curb-to-curb width of approximately 22 feet and carries one lane, no sidewalks. This bridge has 5 spans comprised of a reinforced concrete deck supported by rolled steel girders.

STAFF SUMMARY SIGNATURE PAGE

<input type="checkbox"/> Secretary Approval	<input checked="" type="checkbox"/> MassDOT Board Approval	Prepared by: Alina Daragan	
Department: Highway Division	Program Manager: John J. Bechard	email: john.bechard@dot.state.ma.us	Telephone: 508-751-1755
Contract No./Subject: 613921-132904 BOSTON- Bridge Deck Preservation of B-16-259 and B-16-260 on I-93		Date Prepared: 12/16/2025	
Implications			
<input checked="" type="checkbox"/> Capital Budget <input type="checkbox"/> Operating Budget <input type="checkbox"/> Legal <input type="checkbox"/> Other			

Based on the December 6, 2021, Routine Inspection Report, the existing deck is in satisfactory condition, the existing superstructure is in fair condition and the existing substructure is in fair condition.

Bridge B-16-259 (3EH) - is oriented North - South and carries I-93 Southbound On-Ramp, over Other Relief. The overall length of approximately 512 feet and an overall width of approximately 30 feet. The structure has a curb-to-curb width of approximately 22 feet and carries one lane, no sidewalks. This bridge has 6 spans comprised of a reinforced concrete deck supported by rolled steel girders.

Based on the December 20, 2023, Routine Inspection Report, the existing deck is in satisfactory condition, the existing superstructure is in fair condition, and the existing substructure is in fair condition.

Bridge B-16-260 (3DN) – is oriented North-South and carries I-93 Northbound and Southbound over RR CSX SPUR Line. The overall length of approximately 82 feet and an overall width of approximately 111 feet. The structure has a curb-to-curb width of approximately 105 feet and carries eight lanes, four in each direction, with no sidewalks. This bridge is a single span structure with 18 beams. Based on the October 18, 2023, Routine Inspection Report, the existing deck is in good condition, the existing superstructure is in satisfactory condition with paint and coating in fair condition, and the existing substructure is in satisfactory condition.

The work will be planned in stages to minimize the time when the concrete decks will be exposed. Most of the work will be done overnight with minimum of two lanes in each direction throughout the duration of construction. To complete the work on the On/ Off ramps the project will have night-time detours.

The preservation work on these bridges will extend the service life of the bridges, improve safety, and will provide necessary deck and joints conditions to perform further preservation works on the superstructure and substructure.

PROCUREMENT:

On November 1, 2025, the Highway Division advertised this contract for bids. On December 9, 2025, the Highway Division opened bids for this contract and five (5) bids were received. McCourt Construction Co Inc. was the lowest responsible and eligible bidder with a bid price of \$16,699,051.25.

The bids were reviewed by engineers in the Construction, Construction Contracts and Project Management Sections.

The Highway Division has accepted the bid submitted by McCourt Construction Co Inc which at \$16,699,051.25 is 3.78% lower than the office estimate of \$17,354,525.00. Due to the discrepancy, a bid assessment was undertaken where quantities were confirmed, and unit prices were evaluated.

STAFF SUMMARY SIGNATURE PAGE

<input type="checkbox"/> Secretary Approval	<input checked="" type="checkbox"/> MassDOT Board Approval	Prepared by: Alina Daragan	
Department: Highway Division	Program Manager: John J. Bechard	email: john.bechard@dot.state.ma.us	Telephone: 508-751-1755
Contract No./Subject: 613921-132904 BOSTON- Bridge Deck Preservation of B-16-259 and B-16-260 on I-93			Date Prepared: 12/16/2025
Implications			
<input checked="" type="checkbox"/> Capital Budget <input type="checkbox"/> Operating Budget <input type="checkbox"/> Legal <input type="checkbox"/> Other			

The following is the list of bidders with the corresponding bid prices:

McCourt Construction Co INC	\$16,699,051.25
NEL Corporation	\$18,289,909.50
MIG Corporation	\$18,608,634.00
SPS New England INC	\$19,542,023.00
J F WHITE CONTRACTING CO	\$21,144,387.50

FINANCIAL IMPACT/BUDGET SOURCE:

This action is funded through various sources including 20% State Funds and 80% Federal Funds broken down below.

Federal Aid Funds (80%) in the FY26-FY29 STIP as follows:

- HIPBR/Highway Infrastructure Program Bridge

Non-Federal Aid fund (20% Match):

- NFA – Site Specific

RECOMMENDATIONS:

It is recommended that the Board of Directors authorize the Secretary, or his designee, to award and execute MassDOT Contract No. 613921-132904 titled Boston - Bridge Deck Preservation of B-16-259 and B-16-260 on I-93, with McCourt Construction Co Inc., in a form approved by the General Counsel, in the amount of \$16,699,051.25.

COORDINATION WITH:

Office of Diversity and Civil Rights
Engineering and Maintenance
Environmental
Capital Programs
Budget and Finance
Legal Department

ATTACHMENTS:

Tab A – Vote [to be completed by Legal]

RESOURCE/REFERENCE DOCUMENTS:

Bid Tabulations
Eligible Bidders Listing
Low Bidder by Bid Item with Affidavit
Schedule of Participation by Disadvantaged Business Enterprises (DBES)
Bid Comparison Memorandum

BOSTON - 613921 - 132904 - FAP# HIP(BR)-0936(003)X - 61212214 & 61212217 - Bridge Deck Preservation of B-16-259 and B-16-260 on I-93

DBE % (goal): 0.00 %

MWBE % (goal):

SDVOB % (goal):

OFFICE ESTIMATE: \$17,354,525.00

MCCOURT CONSTRUCTION CO INC	60 K Street, South Boston, MA, 02127	\$16,699,051.25
NEL CORPORATION	3 Ajootian Way, Bldg B, P.O.Box 929, Middleton, MA, 01949-2493	\$18,289,909.50
MIG CORPORATION	One Acton Place, Suite 200, Acton, MA, 01720	\$18,608,634.00
SPS NEW ENGLAND INC	98 Elm Street, Salisbury, MA, 01952	\$19,542,023.00
J F WHITE CONTRACTING CO	111 Speen Street, Framingham, MA, 01701	\$21,144,387.50

Project #	: 613921			Bids Open Date :	09 Dec 2025		
Location	: BOSTON			Contract # :	132904		
District	: 6						
Description	: BOSTON- BRIDGE DECK PRESERVATION OF B-16-259 AND B-16-260 ON I-93						
Item #	Quantity	Units	Description	Unit Price	Office Estimate	Amount	MCCOURT CONSTRUCTION CO INC
106.08	1,100.000	FT	ARMORED STEEL JOINT REMOVED AND DISCARDED	\$150.00	\$165,000.00		\$400.00 \$440,000.00
119.5	1.000	LS	CONSTRUCTION NOISE CONTROL	\$250,000.00	\$250,000.00		\$35,200.00 \$35,200.00
120.1	3.000	CY	UNCLASSIFIED EXCAVATION	\$200.00	\$600.00		\$2,100.00 \$6,300.00
127.1	100.000	CY	REINFORCED CONCRETE EXCAVATION	\$7,000.00	\$700,000.00		\$9,000.00 \$900,000.00
127.13	40.000	CY	REINFORCED CONCRETE EXCAVATION (BARRIER)	\$10,000.00	\$400,000.00		\$9,000.00 \$360,000.00
127.4	1,240.000	SY	REINFORCED CONCRETE DECK EXCAVATION (FULL DEPTH)	\$1,300.00	\$1,612,000.00		\$925.00 \$1,147,000.00
127.41	585.000	CY	REINFORCED CONCRETE DECK EXCAVATION (PARTIAL DEPTH)	\$5,000.00	\$2,925,000.00		\$4,250.00 \$2,486,250.00
220.	13.000	EA	DRAINAGE STRUCTURE ADJUSTED	\$2,000.00	\$26,000.00		\$950.00 \$12,350.00
227.02	28.000	EA	CLEANING OF SCUPPERS	\$1,700.00	\$47,600.00		\$1,750.00 \$49,000.00
415.2	6,310.000	SY	PAVEMENT FINE MILLING	\$16.00	\$100,960.00		\$20.00 \$126,200.00
415.4	24,400.000	SY	BRIDGE PAVEMENT MILLING	\$30.00	\$732,000.00		\$20.00 \$488,000.00
440.5	1.000	LS	CONSTRUCTION DUST CONTROL AND MONITORING	\$250,000.00	\$250,000.00		\$30,000.00 \$30,000.00
450.231	625.000	TON	SUPERPAVE SURFACE COURSE - 12.5 POLYMER (SSC - 12.5 - P)	\$300.00	\$187,500.00		\$223.00 \$139,375.00
451.	120.000	TON	HMA FOR PATCHING	\$350.00	\$42,000.00		\$500.00 \$60,000.00
452.	2,000.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$11.00	\$22,000.00		\$10.00 \$20,000.00
453.	18,500.000	FT	HMA JOINT ADHESIVE	\$2.00	\$37,000.00		\$2.00 \$37,000.00
457.2	3,775.000	TON	SUPERPAVE WATERPROOFING SURFACE COURSE - 12.5 (SSC-W-12.5)	\$720.00	\$2,718,000.00		\$600.00 \$2,265,000.00
472.	95.000	TON	TEMPORARY ASPHALT PATCHING	\$350.00	\$33,250.00		\$575.00 \$54,625.00
481.45	230.000	CF	ELASTOMERIC CONCRETE	\$620.00	\$142,600.00		\$1,300.00 \$299,000.00
482.31	4,050.000	FT	SAWING AND SEALING JOINTS IN ASPHALT PAVEMENT AT BRIDGES	\$40.00	\$162,000.00		\$30.00 \$121,500.00
482.41	850.000	FT	SAWING AND SEALING JOINTS IN CONCRETE AT BRIDGES	\$40.00	\$34,000.00		\$42.00 \$35,700.00
722.2	1.000	LS	SCHEDULE OF OPERATIONS (TYPE B) - FIXED PRICE \$95000	\$95,000.00	\$95,000.00		\$95,000.00 \$95,000.00
740.	31.000	MO	ENGINEER'S FIELD OFFICE AND EQUIPMENT (TYPE A)	\$5,000.00	\$155,000.00		\$4,000.00 \$124,000.00

Bid Tabulations

Project # : 613921
Location : BOSTON
District : 6
Description : BOSTON- BRIDGE DECK PRESERVATION OF B-16-259 AND B-16-260 ON I-93

Bids Open Date : 09 Dec 2025
Contract # : 132904

Item #	Quantity	Units	Description	Office Estimate		MCCOURT CONSTRUCTION CO INC	
				Unit Price	Amount	Unit Price	Amount
748.	1.000	LS	MOBILIZATION	\$442,240.00	\$442,240.00	\$450,000.00	\$450,000.00
851.1	520.000	DAY	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	\$300.00	\$156,000.00	\$1,750.00	\$910,000.00
852.	1,040.000	SF	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	\$27.00	\$28,080.00	\$35.00	\$36,400.00
853.403	1,030.000	DAY	TRUCK MOUNTED ATTENUATOR	\$150.00	\$154,500.00	\$185.00	\$190,550.00
853.8	520.000	DAY	TEMPORARY ILLUMINATION FOR WORK ZONE	\$60.00	\$31,200.00	\$250.00	\$130,000.00
854.016	4,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (PAINTED)	\$0.90	\$3,600.00	\$1.15	\$4,600.00
854.036	2,500.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (TAPE)	\$2.50	\$6,250.00	\$5.75	\$14,375.00
854.6	1,030.000	DAY	TEMPORARY PORTABLE RUMBLE STRIP	\$22.00	\$22,660.00	\$1.00	\$1,030.00
856.	1,030.000	DAY	ARROW BOARD	\$18.00	\$18,540.00	\$7.00	\$7,210.00
856.12	110.000	DAY	PORTABLE CHANGEABLE MESSAGE SIGN	\$30.00	\$3,300.00	\$20.00	\$2,200.00
859.	10,260.000	DAY	REFLECTORIZED DRUM	\$0.50	\$5,130.00	\$0.25	\$2,565.00
859.1	520.000	DAY	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	\$7.00	\$3,640.00	\$8.00	\$4,160.00
862.406	7,675.000	FT	6-IN. RECESSED WHITE LINE (MC, UFD, WR)	\$6.00	\$46,050.00	\$2.75	\$21,106.25
862.412	1,200.000	FT	12-IN. RECESSED WHITE LINE (MC, UFD, WR)	\$7.00	\$8,400.00	\$5.00	\$6,000.00
863.406	4,800.000	FT	6-IN. RECESSED YELLOW LINE (MC, UFD, WR)	\$6.00	\$28,800.00	\$2.75	\$13,200.00
909.3	940.000	CY	RAPID SETTING LOW PERMEABILITY CONCRETE	\$3,300.00	\$3,102,000.00	\$2,800.00	\$2,632,000.00
910.1	34,500.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$4.25	\$146,625.00	\$2.25	\$77,625.00
912.	150.000	EA	DRILLING AND GROUTING DOWELS	\$115.00	\$17,250.00	\$225.00	\$33,750.00
964.3	34,800.000	SF	ELASTOMERIC PROTECTIVE COATING	\$7.00	\$243,600.00	\$8.00	\$278,400.00
964.6	940.000	SY	PENETRATING EPOXY SEALER TREATMENT ON BRIDGE DECKS	\$70.00	\$65,800.00	\$115.00	\$108,100.00
966.1	7,300.000	SF	MEMBRANE WATERPROOFING FOR BRIDGE DECK JOINT REPAIRS - PREFORMED SHEETS	\$8.50	\$62,050.00	\$19.00	\$138,700.00
973.	1,200.000	FT	PRE-COMPRESSED SEAL BRIDGE JOINT SYSTEM	\$180.00	\$216,000.00	\$175.00	\$210,000.00
973.1	1,560.000	FT	PRE-COMPRESSED SEAL BRIDGE JOINT SYSTEM (MEDIAN LONGITUDINAL JOINT)	\$130.00	\$202,800.00	\$168.00	\$262,080.00
994.011	4,500.000	SY	PROTECTIVE SHIELDING	\$175.00	\$787,500.00	\$185.00	\$832,500.00

Bid Tabulations

Project # : 613921
Location : BOSTON
District : 6
Description : BOSTON- BRIDGE DECK PRESERVATION OF B-16-259 AND B-16-260 ON I-93

Bids Open Date : 09 Dec 2025
Contract # : 132904

Item #	Quantity	Units	Description	Office Estimate		MCCOURT CONSTRUCTION CO INC	
				Unit Price	Amount	Unit Price	Amount
994.02	2,600.000	SY	PROTECTIVE SHIELDING OVER RAILROAD TRACKS	\$275.00	\$715,000.00	\$385.00	\$1,001,000.00
				Total :	\$17,354,525.00	Total :	\$16,699,051.25

Bid Tabulations

Project # : 613921
Location : BOSTON
District : 6
Description : BOSTON- BRIDGE DECK PRESERVATION OF B-16-259 AND B-16-260 ON I-93

Bids Open Date : 09 Dec 2025
Contract # : 132904

Item #	Quantity	Units	Description	NEL CORPORATION		MIG CORPORATION	
				Unit Price	Amount	Unit Price	Amount
106.08	1,100.000	FT	ARMORED STEEL JOINT REMOVED AND DISCARDED	\$255.00	\$280,500.00	\$295.00	\$324,500.00
119.5	1.000	LS	CONSTRUCTION NOISE CONTROL	\$210,000.00	\$210,000.00	\$80,000.00	\$80,000.00
120.1	3.000	CY	UNCLASSIFIED EXCAVATION	\$855.00	\$2,565.00	\$355.00	\$1,065.00
127.1	100.000	CY	REINFORCED CONCRETE EXCAVATION	\$8,720.00	\$872,000.00	\$5,995.00	\$599,500.00
127.13	40.000	CY	REINFORCED CONCRETE EXCAVATION (BARRIER)	\$7,815.00	\$312,600.00	\$7,157.00	\$286,280.00
127.4	1,240.000	SY	REINFORCED CONCRETE DECK EXCAVATION (FULL DEPTH)	\$423.00	\$524,520.00	\$1,355.00	\$1,680,200.00
127.41	585.000	CY	REINFORCED CONCRETE DECK EXCAVATION (PARTIAL DEPTH)	\$2,280.00	\$1,333,800.00	\$3,222.00	\$1,884,870.00
220.	13.000	EA	DRAINAGE STRUCTURE ADJUSTED	\$1,840.00	\$23,920.00	\$1,757.00	\$22,841.00
227.02	28.000	EA	CLEANING OF SCUPPERS	\$2,273.00	\$63,644.00	\$1,725.00	\$48,300.00
415.2	6,310.000	SY	PAVEMENT FINE MILLING	\$24.00	\$151,440.00	\$18.00	\$113,580.00
415.4	24,400.000	SY	BRIDGE PAVEMENT MILLING	\$24.00	\$585,600.00	\$20.00	\$488,000.00
440.5	1.000	LS	CONSTRUCTION DUST CONTROL AND MONITORING	\$240,000.00	\$240,000.00	\$39,300.00	\$39,300.00
450.231	625.000	TON	SUPERPAVE SURFACE COURSE - 12.5 POLYMER (SSC - 12.5 - P)	\$265.00	\$165,625.00	\$725.00	\$453,125.00
451.	120.000	TON	HMA FOR PATCHING	\$910.00	\$109,200.00	\$455.00	\$54,600.00
452.	2,000.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$11.40	\$22,800.00	\$16.00	\$32,000.00
453.	18,500.000	FT	HMA JOINT ADHESIVE	\$2.35	\$43,475.00	\$4.00	\$74,000.00
457.2	3,775.000	TON	SUPERPAVE WATERPROOFING SURFACE COURSE - 12.5 (SSC-W-12.5)	\$645.00	\$2,434,875.00	\$985.00	\$3,718,375.00
472.	95.000	TON	TEMPORARY ASPHALT PATCHING	\$794.00	\$75,430.00	\$455.00	\$43,225.00
481.45	230.000	CF	ELASTOMERIC CONCRETE	\$1,200.00	\$276,000.00	\$1,330.00	\$305,900.00
482.31	4,050.000	FT	SAWING AND SEALING JOINTS IN ASPHALT PAVEMENT AT BRIDGES	\$35.00	\$141,750.00	\$42.00	\$170,100.00
482.41	850.000	FT	SAWING AND SEALING JOINTS IN CONCRETE AT BRIDGES	\$49.45	\$42,032.50	\$45.00	\$38,250.00
722.2	1.000	LS	SCHEDULE OF OPERATIONS (TYPE B) - FIXED PRICE \$95000	\$95,000.00	\$95,000.00	\$95,000.00	\$95,000.00
740.	31.000	MO	ENGINEER'S FIELD OFFICE AND EQUIPMENT (TYPE A)	\$6,350.00	\$196,850.00	\$4,440.00	\$137,640.00

Bid Tabulations

Project # : 613921
Location : BOSTON
District : 6
Description : BOSTON- BRIDGE DECK PRESERVATION OF B-16-259 AND B-16-260 ON I-93

Bids Open Date : 09 Dec 2025
Contract # : 132904

Item #	Quantity	Units	Description	NEL CORPORATION		MIG CORPORATION	
				Unit Price	Amount	Unit Price	Amount
748.	1.000	LS	MOBILIZATION	\$654,790.00	\$654,790.00	\$544,000.00	\$544,000.00
851.1	520.000	DAY	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	\$1,290.00	\$670,800.00	\$2,977.00	\$1,548,040.00
852.	1,040.000	SF	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	\$32.00	\$33,280.00	\$33.00	\$34,320.00
853.403	1,030.000	DAY	TRUCK MOUNTED ATTENUATOR	\$275.00	\$283,250.00	\$188.00	\$193,640.00
853.8	520.000	DAY	TEMPORARY ILLUMINATION FOR WORK ZONE	\$260.00	\$135,200.00	\$155.00	\$80,600.00
854.016	4,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (PAINTED)	\$1.63	\$6,520.00	\$1.75	\$7,000.00
854.036	2,500.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (TAPE)	\$4.00	\$10,000.00	\$3.50	\$8,750.00
854.6	1,030.000	DAY	TEMPORARY PORTABLE RUMBLE STRIP	\$10.00	\$10,300.00	\$5.00	\$5,150.00
856.	1,030.000	DAY	ARROW BOARD	\$40.00	\$41,200.00	\$12.00	\$12,360.00
856.12	110.000	DAY	PORTABLE CHANGEABLE MESSAGE SIGN	\$45.00	\$4,950.00	\$25.00	\$2,750.00
859.	10,260.000	DAY	REFLECTORIZED DRUM	\$1.00	\$10,260.00	\$0.30	\$3,078.00
859.1	520.000	DAY	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	\$13.00	\$6,760.00	\$5.00	\$2,600.00
862.406	7,675.000	FT	6-IN. RECESSED WHITE LINE (MC, UFD, WR)	\$3.40	\$26,095.00	\$3.00	\$23,025.00
862.412	1,200.000	FT	12-IN. RECESSED WHITE LINE (MC, UFD, WR)	\$11.85	\$14,220.00	\$6.00	\$7,200.00
863.406	4,800.000	FT	6-IN. RECESSED YELLOW LINE (MC, UFD, WR)	\$3.40	\$16,320.00	\$3.00	\$14,400.00
909.3	940.000	CY	RAPID SETTING LOW PERMEABILITY CONCRETE	\$6,270.00	\$5,893,800.00	\$3,248.00	\$3,053,120.00
910.1	34,500.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$1.70	\$58,650.00	\$3.30	\$113,850.00
912.	150.000	EA	DRILLING AND GROUTING DOWELS	\$65.00	\$9,750.00	\$68.00	\$10,200.00
964.3	34,800.000	SF	ELASTOMERIC PROTECTIVE COATING	\$6.80	\$236,640.00	\$7.50	\$261,000.00
964.6	940.000	SY	PENETRATING EPOXY SEALER TREATMENT ON BRIDGE DECKS	\$89.20	\$83,848.00	\$50.00	\$47,000.00
966.1	7,300.000	SF	MEMBRANE WATERPROOFING FOR BRIDGE DECK JOINT REPAIRS - PREFORMED SHEETS	\$6.50	\$47,450.00	\$10.00	\$73,000.00
973.	1,200.000	FT	PRE-COMPRESSED SEAL BRIDGE JOINT SYSTEM	\$190.00	\$228,000.00	\$188.00	\$225,600.00
973.1	1,560.000	FT	PRE-COMPRESSED SEAL BRIDGE JOINT SYSTEM (MEDIAN LONGITUDINAL JOINT)	\$145.00	\$226,200.00	\$155.00	\$241,800.00
994.011	4,500.000	SY	PROTECTIVE SHIELDING	\$130.00	\$585,000.00	\$165.00	\$742,500.00

Bid Tabulations

Project # : 613921
Location : BOSTON
District : 6
Description : BOSTON- BRIDGE DECK PRESERVATION OF B-16-259 AND B-16-260 ON I-93

Bids Open Date : 09 Dec 2025
Contract # : 132904

Item #	Quantity	Units	Description	NEL CORPORATION		MIG CORPORATION	
				Unit Price	Amount	Unit Price	Amount
994.02	2,600.000	SY	PROTECTIVE SHIELDING OVER RAILROAD TRACKS	\$305.00	\$793,000.00	\$255.00	\$663,000.00
				Total :	<u>\$18,289,909.50</u>	Total :	<u>\$18,608,634.00</u>

Bid Tabulations

Project # : 613921
Location : BOSTON
District : 6
Description : BOSTON- BRIDGE DECK PRESERVATION OF B-16-259 AND B-16-260 ON I-93

Bids Open Date : 09 Dec 2025
Contract # : 132904

Item #	Quantity	Units	Description	SPS NEW ENGLAND INC		J F WHITE CONTRACTING CO	
				Unit Price	Amount	Unit Price	Amount
106.08	1,100.000	FT	ARMORED STEEL JOINT REMOVED AND DISCARDED	\$1,977.00	\$2,174,700.00	\$205.00	\$225,500.00
119.5	1.000	LS	CONSTRUCTION NOISE CONTROL	\$80,000.00	\$80,000.00	\$65,000.00	\$65,000.00
120.1	3.000	CY	UNCLASSIFIED EXCAVATION	\$750.00	\$2,250.00	\$275.00	\$825.00
127.1	100.000	CY	REINFORCED CONCRETE EXCAVATION	\$1.00	\$100.00	\$8,360.00	\$836,000.00
127.13	40.000	CY	REINFORCED CONCRETE EXCAVATION (BARRIER)	\$6,000.00	\$240,000.00	\$7,075.00	\$283,000.00
127.4	1,240.000	SY	REINFORCED CONCRETE DECK EXCAVATION (FULL DEPTH)	\$400.00	\$496,000.00	\$1,700.00	\$2,108,000.00
127.41	585.000	CY	REINFORCED CONCRETE DECK EXCAVATION (PARTIAL DEPTH)	\$3,700.00	\$2,164,500.00	\$8,745.00	\$5,115,825.00
220.	13.000	EA	DRAINAGE STRUCTURE ADJUSTED	\$3,000.00	\$39,000.00	\$3,300.00	\$42,900.00
227.02	28.000	EA	CLEANING OF SCUPPERS	\$2,600.00	\$72,800.00	\$1,100.00	\$30,800.00
415.2	6,310.000	SY	PAVEMENT FINE MILLING	\$40.00	\$252,400.00	\$20.75	\$130,932.50
415.4	24,400.000	SY	BRIDGE PAVEMENT MILLING	\$55.00	\$1,342,000.00	\$20.75	\$506,300.00
440.5	1.000	LS	CONSTRUCTION DUST CONTROL AND MONITORING	\$42,500.00	\$42,500.00	\$60,000.00	\$60,000.00
450.231	625.000	TON	SUPERPAVE SURFACE COURSE - 12.5 POLYMER (SSC - 12.5 - P)	\$350.00	\$218,750.00	\$209.44	\$130,900.00
451.	120.000	TON	HMA FOR PATCHING	\$550.00	\$66,000.00	\$970.00	\$116,400.00
452.	2,000.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$11.00	\$22,000.00	\$11.50	\$23,000.00
453.	18,500.000	FT	HMA JOINT ADHESIVE	\$2.05	\$37,925.00	\$2.40	\$44,400.00
457.2	3,775.000	TON	SUPERPAVE WATERPROOFING SURFACE COURSE - 12.5 (SSC-W-12.5)	\$875.00	\$3,303,125.00	\$575.00	\$2,170,625.00
472.	95.000	TON	TEMPORARY ASPHALT PATCHING	\$550.00	\$52,250.00	\$1,040.00	\$98,800.00
481.45	230.000	CF	ELASTOMERIC CONCRETE	\$975.00	\$224,250.00	\$1,400.00	\$322,000.00
482.31	4,050.000	FT	SAWING AND SEALING JOINTS IN ASPHALT PAVEMENT AT BRIDGES	\$45.00	\$182,250.00	\$31.50	\$127,575.00
482.41	850.000	FT	SAWING AND SEALING JOINTS IN CONCRETE AT BRIDGES	\$55.00	\$46,750.00	\$44.50	\$37,825.00
722.2	1.000	LS	SCHEDULE OF OPERATIONS (TYPE B) - FIXED PRICE \$95000	\$95,000.00	\$95,000.00	\$95,000.00	\$95,000.00
740.	31.000	MO	ENGINEER'S FIELD OFFICE AND EQUIPMENT (TYPE A)	\$4,800.00	\$148,800.00	\$6,000.00	\$186,000.00

Bid Tabulations

Project # : 613921
Location : BOSTON
District : 6
Description : BOSTON- BRIDGE DECK PRESERVATION OF B-16-259 AND B-16-260 ON I-93

Bids Open Date : 09 Dec 2025
Contract # : 132904

Item #	Quantity	Units	Description	SPS NEW ENGLAND INC		J F WHITE CONTRACTING CO	
				Unit Price	Amount	Unit Price	Amount
748.	1.000	LS	MOBILIZATION	\$600,000.00	\$600,000.00	\$610,000.00	\$610,000.00
851.1	520.000	DAY	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	\$1.00	\$520.00	\$420.00	\$218,400.00
852.	1,040.000	SF	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	\$35.00	\$36,400.00	\$26.00	\$27,040.00
853.403	1,030.000	DAY	TRUCK MOUNTED ATTENUATOR	\$625.00	\$643,750.00	\$240.00	\$247,200.00
853.8	520.000	DAY	TEMPORARY ILLUMINATION FOR WORK ZONE	\$200.00	\$104,000.00	\$240.00	\$124,800.00
854.016	4,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (PAINTED)	\$1.00	\$4,000.00	\$1.25	\$5,000.00
854.036	2,500.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (TAPE)	\$5.00	\$12,500.00	\$1.50	\$3,750.00
854.6	1,030.000	DAY	TEMPORARY PORTABLE RUMBLE STRIP	\$55.00	\$56,650.00	\$52.00	\$53,560.00
856.	1,030.000	DAY	ARROW BOARD	\$200.00	\$206,000.00	\$8.00	\$8,240.00
856.12	110.000	DAY	PORTABLE CHANGEABLE MESSAGE SIGN	\$45.00	\$4,950.00	\$20.00	\$2,200.00
859.	10,260.000	DAY	REFLECTORIZED DRUM	\$0.30	\$3,078.00	\$0.25	\$2,565.00
859.1	520.000	DAY	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	\$22.00	\$11,440.00	\$93.00	\$48,360.00
862.406	7,675.000	FT	6-IN. RECESSED WHITE LINE (MC, UFD, WR)	\$5.00	\$38,375.00	\$3.00	\$23,025.00
862.412	1,200.000	FT	12-IN. RECESSED WHITE LINE (MC, UFD, WR)	\$12.00	\$14,400.00	\$6.00	\$7,200.00
863.406	4,800.000	FT	6-IN. RECESSED YELLOW LINE (MC, UFD, WR)	\$5.00	\$24,000.00	\$3.00	\$14,400.00
909.3	940.000	CY	RAPID SETTING LOW PERMEABILITY CONCRETE	\$4,700.00	\$4,418,000.00	\$3,180.00	\$2,989,200.00
910.1	34,500.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$4.00	\$138,000.00	\$5.00	\$172,500.00
912.	150.000	EA	DRILLING AND GROUTING DOWELS	\$1.00	\$150.00	\$120.00	\$18,000.00
964.3	34,800.000	SF	ELASTOMERIC PROTECTIVE COATING	\$17.50	\$609,000.00	\$5.50	\$191,400.00
964.6	940.000	SY	PENETRATING EPOXY SEALER TREATMENT ON BRIDGE DECKS	\$49.00	\$46,060.00	\$116.00	\$109,040.00
966.1	7,300.000	SF	MEMBRANE WATERPROOFING FOR BRIDGE DECK JOINT REPAIRS - PREFORMED SHEETS	\$4.00	\$29,200.00	\$19.00	\$138,700.00
973.	1,200.000	FT	PRE-COMPRESSED SEAL BRIDGE JOINT SYSTEM	\$275.00	\$330,000.00	\$120.00	\$144,000.00
973.1	1,560.000	FT	PRE-COMPRESSED SEAL BRIDGE JOINT SYSTEM (MEDIAN LONGITUDINAL JOINT)	\$275.00	\$429,000.00	\$95.00	\$148,200.00
994.011	4,500.000	SY	PROTECTIVE SHIELDING	\$10.00	\$45,000.00	\$280.00	\$1,260,000.00

Bid Tabulations

Project # : 613921
Location : BOSTON
District : 6
Description : BOSTON- BRIDGE DECK PRESERVATION OF B-16-259 AND B-16-260 ON I-93

Bids Open Date : 09 Dec 2025
Contract # : 132904

Item #	Quantity	Units	Description	SPS NEW ENGLAND INC		J F WHITE CONTRACTING CO	
				Unit Price	Amount	Unit Price	Amount
994.02	2,600.000	SY	PROTECTIVE SHIELDING OVER RAILROAD TRACKS	\$167.00	\$434,200.00	\$700.00	\$1,820,000.00
				Total :	\$19,542,023.00	Total :	\$21,144,387.50

Bridge Deck Preservation of B-16-259 and B-16-260 on I-93

Contract #:	132904	Bid Opening Date:	12/9/2025
Project #:	613921	Office Estimate:	\$17,354,525.00
City:	BOSTON	No. of Addendums:	2
District:	6	DBE % (goal):	0.00 %
Class Of Work:	Bridge - Construction	SDVOB % (goal):	
MWBE % (goal):		SDVOB % (goal):	

Contractor(s)	JV	Approval Date	Official / Waiver	Bid Amount
BARLETTA HEAVY DIVISION INC	No	11/03/2025	Official	No Bid
J F WHITE CONTRACTING CO	No	11/25/2025	Official	\$21,144,387.50
JOHN ROCCHIO CORPORATION	No	11/17/2025	Official	No Bid
MAS BUILDING & BRIDGE INC	No	11/05/2025	Official	No Bid
MCCOURT CONSTRUCTION CO INC	No	11/06/2025	Official	\$16,699,051.25
MIG CORPORATION	No	11/04/2025	Official	\$18,608,634.00
NEL CORPORATION	No	11/12/2025	Official	\$18,289,909.50
NORTHERN CONSTRUCTION SERVICE LLC	No	11/03/2025	Official	No Bid
SPS NEW ENGLAND INC	No	11/03/2025	Official	\$19,542,023.00

Total # of Bidders: 9

Project # : 613921
Location : BOSTON
District : 6
Description : BOSTON- BRIDGE DECK PRESERVATION OF B-16-259 AND B-16-260 ON I-93

Bids Open Date : 09 Dec 2025
Contract # : 132904

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
106.08	1,100.000	FT	ARMORED STEEL JOINT REMOVED AND DISCARDED	\$150.00	\$400.00	\$683.00
119.5	1.000	LS	CONSTRUCTION NOISE CONTROL	\$250,000.00	\$35,200.00	\$108,750.00
120.1	3.000	CY	UNCLASSIFIED EXCAVATION	\$200.00	\$2,100.00	\$558.75
127.1	100.000	CY	REINFORCED CONCRETE EXCAVATION	\$7,000.00	\$9,000.00	\$5,769.00
127.13	40.000	CY	REINFORCED CONCRETE EXCAVATION (BARRIER)	\$10,000.00	\$9,000.00	\$7,011.75
127.4	1,240.000	SY	REINFORCED CONCRETE DECK EXCAVATION (FULL DEPTH)	\$1,300.00	\$925.00	\$969.50
127.41	585.000	CY	REINFORCED CONCRETE DECK EXCAVATION (PARTIAL DEPTH)	\$5,000.00	\$4,250.00	\$4,486.75
220.	13.000	EA	DRAINAGE STRUCTURE ADJUSTED	\$2,000.00	\$950.00	\$2,474.25
227.02	28.000	EA	CLEANING OF SCUPPERS	\$1,700.00	\$1,750.00	\$1,924.50
415.2	6,310.000	SY	PAVEMENT FINE MILLING	\$16.00	\$20.00	\$25.69
415.4	24,400.000	SY	BRIDGE PAVEMENT MILLING	\$30.00	\$20.00	\$29.94
440.5	1.000	LS	CONSTRUCTION DUST CONTROL AND MONITORING	\$250,000.00	\$30,000.00	\$95,450.00
450.231	625.000	TON	SUPERPAVE SURFACE COURSE - 12.5 POLYMER (SSC - 12.5 - P)	\$300.00	\$223.00	\$387.36
451.	120.000	TON	HMA FOR PATCHING	\$350.00	\$500.00	\$721.25
452.	2,000.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$11.00	\$10.00	\$12.48
453.	18,500.000	FT	HMA JOINT ADHESIVE	\$2.00	\$2.00	\$2.70
457.2	3,775.000	TON	SUPERPAVE WATERPROOFING SURFACE COURSE - 12.5 (SSC-W-12.5)	\$720.00	\$600.00	\$770.00
472.	95.000	TON	TEMPORARY ASPHALT PATCHING	\$350.00	\$575.00	\$709.75
481.45	230.000	CF	ELASTOMERIC CONCRETE	\$620.00	\$1,300.00	\$1,226.25
482.31	4,050.000	FT	SAWING AND SEALING JOINTS IN ASPHALT PAVEMENT AT BRIDGES	\$40.00	\$30.00	\$38.38
482.41	850.000	FT	SAWING AND SEALING JOINTS IN CONCRETE AT BRIDGES	\$40.00	\$42.00	\$48.49
722.2	1.000	LS	SCHEDULE OF OPERATIONS (TYPE B) - FIXED PRICE \$95000	\$95,000.00	\$95,000.00	\$95,000.00
740.	31.000	MO	ENGINEER'S FIELD OFFICE AND EQUIPMENT (TYPE A)	\$5,000.00	\$4,000.00	\$5,397.50
748.	1.000	LS	MOBILIZATION	\$442,240.00	\$450,000.00	\$602,197.50
851.1	520.000	DAY	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	\$300.00	\$1,750.00	\$1,172.00
852.	1,040.000	SF	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	\$27.00	\$35.00	\$31.50
853.403	1,030.000	DAY	TRUCK MOUNTED ATTENUATOR	\$150.00	\$185.00	\$332.00

Bid Average

Project # : 613921
Location : BOSTON
District : 6
Description : BOSTON- BRIDGE DECK PRESERVATION OF B-16-259 AND B-16-260 ON I-93

Bids Open Date : 09 Dec 2025
Contract # : 132904

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
853.8	520.000	DAY	TEMPORARY ILLUMINATION FOR WORK ZONE	\$60.00	\$250.00	\$213.75
854.016	4,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (PAINTED)	\$0.90	\$1.15	\$1.41
854.036	2,500.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (TAPE)	\$2.50	\$5.75	\$3.50
854.6	1,030.000	DAY	TEMPORARY PORTABLE RUMBLE STRIP	\$22.00	\$1.00	\$30.50
856.	1,030.000	DAY	ARROW BOARD	\$18.00	\$7.00	\$65.00
856.12	110.000	DAY	PORTABLE CHANGEABLE MESSAGE SIGN	\$30.00	\$20.00	\$33.75
859.	10,260.000	DAY	REFLECTORIZED DRUM	\$0.50	\$0.25	\$0.46
859.1	520.000	DAY	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	\$7.00	\$8.00	\$33.25
862.406	7,675.000	FT	6-IN. RECESSED WHITE LINE (MC, UFD, WR)	\$6.00	\$2.75	\$3.60
862.412	1,200.000	FT	12-IN. RECESSED WHITE LINE (MC, UFD, WR)	\$7.00	\$5.00	\$8.96
863.406	4,800.000	FT	6-IN. RECESSED YELLOW LINE (MC, UFD, WR)	\$6.00	\$2.75	\$3.60
909.3	940.000	CY	RAPID SETTING LOW PERMEABILITY CONCRETE	\$3,300.00	\$2,800.00	\$4,349.50
910.1	34,500.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$4.25	\$2.25	\$3.50
912.	150.000	EA	DRILLING AND GROUTING DOWELS	\$115.00	\$225.00	\$63.50
964.3	34,800.000	SF	ELASTOMERIC PROTECTIVE COATING	\$7.00	\$8.00	\$9.33
964.6	940.000	SY	PENETRATING EPOXY SEALER TREATMENT ON BRIDGE DECKS	\$70.00	\$115.00	\$76.05
966.1	7,300.000	SF	MEMBRANE WATERPROOFING FOR BRIDGE DECK JOINT REPAIRS - PREFORMED SHEETS	\$8.50	\$19.00	\$9.88
973.	1,200.000	FT	PRE-COMPRESSED SEAL BRIDGE JOINT SYSTEM	\$180.00	\$175.00	\$193.25
973.1	1,560.000	FT	PRE-COMPRESSED SEAL BRIDGE JOINT SYSTEM (MEDIAN LONGITUDINAL JOINT)	\$130.00	\$168.00	\$167.50
994.011	4,500.000	SY	PROTECTIVE SHIELDING	\$175.00	\$185.00	\$146.25
994.02	2,600.000	SY	PROTECTIVE SHIELDING OVER RAILROAD TRACKS	\$275.00	\$385.00	\$356.75

DOCUMENT B00420

PROPOSAL

BOSTON

For: **Bridge Deck Preservation of B-16-259 and B-16-260 on I-93**

COMMONWEALTH OF MASSACHUSETTS

LOCATION

The work referred to herein is in the City of BOSTON in Suffolk County, in the Commonwealth of Massachusetts, and is shown by the locus map (Document 00331) in the Proposal Pamphlet, the work locations extend as follows:

Route I-93

Bridge B-16-259 (3EC)
Bridge B-16-259 (3EH) SB ON RAMP
Bridge B-16-259 (3EJ) NB OFF RAMP
Bridge B-16-260 (3DN)

The contract prices shall include the furnishing of all materials (except as otherwise herein specified), the performing of all the labor requisite or proper, the providing of all necessary machinery, tools, apparatus and other means of construction, the doing of all the abovementioned work in the manner set forth, described and shown in the specifications and on the drawings for the work, and in the form of contract, and the completion thereof within **922 CALENDAR DAYS** upon receipt of a Notice to Proceed, except that if the completion date falls between December 1 and March 15 then the same number of days beyond December 1st will be extended after March 15th.

The Work of this project is described by the following Items and quantities.

Project # : 613921
Contractor : MCCOURT CONSTRUCTION CO INC
District : 6
Location : BOSTON
Description : Bridge Deck Preservation of B-16-259 and B-16-260 on I-93

Contract # : 132904
Project Manager ALINA DARAGAN

Item #	Quantity	Unit	Item Description	Unit Price	Total
* 106.08	1,100.000	FT	ARMORED STEEL JOINT REMOVED AND DISCARDED	\$400.00	\$440,000.00
* 119.5	1.000	LS	CONSTRUCTION NOISE CONTROL	\$35,200.00	\$35,200.00
120.1	3.000	CY	UNCLASSIFIED EXCAVATION	\$2,100.00	\$6,300.00
* 127.1	100.000	CY	REINFORCED CONCRETE EXCAVATION	\$9,000.00	\$900,000.00
* 127.13	40.000	CY	REINFORCED CONCRETE EXCAVATION (BARRIER)	\$9,000.00	\$360,000.00
* 127.4	1,240.000	SY	REINFORCED CONCRETE DECK EXCAVATION (FULL DEPTH)	\$925.00	\$1,147,000.00
* 127.41	585.000	CY	REINFORCED CONCRETE DECK EXCAVATION (PARTIAL DEPTH)	\$4,250.00	\$2,486,250.00
220.	13.000	EA	DRAINAGE STRUCTURE ADJUSTED	\$950.00	\$12,350.00
* 227.02	28.000	EA	CLEANING OF SCUPPERS	\$1,750.00	\$49,000.00
415.2	6,310.000	SY	PAVEMENT FINE MILLING	\$20.00	\$126,200.00
415.4	24,400.000	SY	BRIDGE PAVEMENT MILLING	\$20.00	\$488,000.00
* 440.5	1.000	LS	CONSTRUCTION DUST CONTROL AND MONITORING	\$30,000.00	\$30,000.00
450.231	625.000	TON	SUPERPAVE SURFACE COURSE - 12.5 POLYMER (SSC - 12.5 - P)	\$223.00	\$139,375.00
451.	120.000	TON	HMA FOR PATCHING	\$500.00	\$60,000.00
452.	2,000.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$10.00	\$20,000.00
453.	18,500.000	FT	HMA JOINT ADHESIVE	\$2.00	\$37,000.00
* 457.2	3,775.000	TON	SUPERPAVE WATERPROOFING SURFACE COURSE - 12.5 (SSC-W-12.5)	\$600.00	\$2,265,000.00
472.	95.000	TON	TEMPORARY ASPHALT PATCHING	\$575.00	\$54,625.00
* 481.45	230.000	CF	ELASTOMERIC CONCRETE	\$1,300.00	\$299,000.00
* 482.31	4,050.000	FT	SAWING AND SEALING JOINTS IN ASPHALT PAVEMENT AT BRIDGES	\$30.00	\$121,500.00
* 482.41	850.000	FT	SAWING AND SEALING JOINTS IN CONCRETE AT BRIDGES	\$42.00	\$35,700.00
* 722.2	1.000	LS	SCHEDULE OF OPERATIONS (TYPE B) - FIXED PRICE \$95000	\$95,000.00	\$95,000.00
* 740.	31.000	MO	ENGINEER'S FIELD OFFICE AND EQUIPMENT (TYPE A)	\$4,000.00	\$124,000.00
748.	1.000	LS	MOBILIZATION	\$450,000.00	\$450,000.00
851.1	520.000	DAY	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	\$1,750.00	\$910,000.00
852.	1,040.000	SF	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	\$35.00	\$36,400.00
853.403	1,030.000	DAY	TRUCK MOUNTED ATTENUATOR	\$185.00	\$190,550.00
853.8	520.000	DAY	TEMPORARY ILLUMINATION FOR WORK ZONE	\$250.00	\$130,000.00
854.016	4,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (PAINTED)	\$1.15	\$4,600.00
854.036	2,500.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (TAPE)	\$5.75	\$14,375.00
* 854.6	1,030.000	DAY	TEMPORARY PORTABLE RUMBLE STRIP	\$1.00	\$1,030.00
856.	1,030.000	DAY	ARROW BOARD	\$7.00	\$7,210.00
856.12	110.000	DAY	PORTABLE CHANGEABLE MESSAGE SIGN	\$20.00	\$2,200.00
859.	10,260.000	DAY	REFLECTORIZED DRUM	\$0.25	\$2,565.00

* Non-Standard Item

Contract Bid Estimate By Breakouts Combined

Project # : 613921
Contractor : MCCOURT CONSTRUCTION CO INC
District : 6
Location : BOSTON
Description : Bridge Deck Preservation of B-16-259 and B-16-260 on I-93

Contract # : 132904
Project Manager ALINA DARAGAN

Item #	Quantity	Unit	Item Description	Unit Price	Total
* 859.1	520.000	DAY	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	\$8.00	\$4,160.00
* 862.406	7,675.000	FT	6-IN. RECESSED WHITE LINE (MC, UFD, WR)	\$2.75	\$21,106.25
* 862.412	1,200.000	FT	12-IN. RECESSED WHITE LINE (MC, UFD, WR)	\$5.00	\$6,000.00
* 863.406	4,800.000	FT	6-IN. RECESSED YELLOW LINE (MC, UFD, WR)	\$2.75	\$13,200.00
* 909.3	940.000	CY	RAPID SETTING LOW PERMEABILITY CONCRETE	\$2,800.00	\$2,632,000.00
910.1	34,500.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$2.25	\$77,625.00
* 912.	150.000	EA	DRILLING AND GROUTING DOWELS	\$225.00	\$33,750.00
* 964.3	34,800.000	SF	ELASTOMERIC PROTECTIVE COATING	\$8.00	\$278,400.00
* 964.6	940.000	SY	PENETRATING EPOXY SEALER TREATMENT ON BRIDGE DECKS	\$115.00	\$108,100.00
* 966.1	7,300.000	SF	MEMBRANE WATERPROOFING FOR BRIDGE DECK JOINT REPAIRS - PREFORMED SHEETS	\$19.00	\$138,700.00
* 973.	1,200.000	FT	PRE-COMPRESSED SEAL BRIDGE JOINT SYSTEM	\$175.00	\$210,000.00
* 973.1	1,560.000	FT	PRE-COMPRESSED SEAL BRIDGE JOINT SYSTEM (MEDIAN LONGITUDINAL JOINT)	\$168.00	\$262,080.00
* 994.011	4,500.000	SY	PROTECTIVE SHIELDING	\$185.00	\$832,500.00
* 994.02	2,600.000	SY	PROTECTIVE SHIELDING OVER RAILROAD TRACKS	\$385.00	\$1,001,000.00

Contract Bid Estimate Grand Total : **\$16,699,051.25**

**ADDENDA ACKNOWLEDGMENT
COMMONWEALTH OF MASSACHUSETTS
MassDOT
10 PARK PLAZA, BOSTON, MA**

Proposal No: 613921-132904

Municipality: BOSTON

Proposal Description: Bridge Deck Preservation of B-16-259 and B-16-260 on I-93 [BOSTON]

The bidder acknowledges that the bid as submitted includes the following addenda:

Addenda Number	Date Issued	Addenda Number	Date Issued
1	11/28/2025		
2	12/04/2025		

I AGREE THAT FAILURE TO ACKNOWLEDGE INCLUSION OF ANY ADDENDA ISSUED FOR THIS PROJECT MAY RESULT IN THIS BID BEING DECLARED NON-RESPONSIVE AND NOT ELIGIBLE FOR AWARD CONSIDERATION.

END OF DOCUMENT

**AFFIDAVIT OF NON-COLLUSION
COMMONWEALTH OF MASSACHUSETTS
MassDOT
10 PARK PLAZA, BOSTON, MA**

Proposal No: 613921-132904

Municipality: BOSTON

Proposal Description: Bridge Deck Preservation of B-16-259 and B-16-260 on I-93 [BOSTON]

The bidder acknowledges that the bid as submitted includes the following addenda:

The undersigned certifies under penalties of perjury that this bid is in all respects bona fide, fair and made without collusion or fraud with any other person. As used in this paragraph the word "person" shall mean any natural person, joint venture, partnership, corporation or other business or legal entity. The undersigned further certifies that said Bidder has not, either directly or indirectly, entered into any agreement or otherwise taken any action in restraint of free competitive bidding in connection with this proposal.

The undersigned, under the pains and penalties or perjury, states that he/she is the sole owner, partner, president, treasurer, or other duly authorized agent or official of

McCourt Construction Co
(Name of Bidder as appearing in submitted proposal)

60 K Street
(Address of Bidder)

South Boston, MA 02127
(City, State) (Zip Code)

617-269-2330
(Telephone Number of Bidder)

The Digital ID holder acknowledges that he/she is the signatory and submitter of this Affidavit of Non-Collusion.

By clicking this box, the Digital ID holder submitting the bid digitally signs this Affidavit of Non-Collusion.

FAILURE TO SIGN THIS AFFIDAVIT WILL RESULT IN THIS BID BEING DECLARED NON-RESPONSIVE AND INELIGIBLE FOR AWARD CONSIDERATION.

END OF DOCUMENT

FILE ATTACHMENTS
COMMONWEALTH OF MASSACHUSETTS
MassDOT
10 PARK PLAZA, BOSTON, MA

Proposal No: 613921-132904

Municipality: BOSTON

Proposal Description: Bridge Deck Preservation of B-16-259 and B-16-260 on I-93 [BOSTON]

Upload technical documents below.

Note: There is a 5MB file size limit per attached file:

Attachment #1 Description:

Attachment #2 Description:

Attachment #3 Description:

Attachment #4 Description:

BID BOND

Paid by certified check / submitted paper bond / bond is not required for this bid

**Electronic Bid Bond #: SMA1118616025 Verify Clear

**Surety Registry Agency: Surety2000

Surety Company: Western Surety Company

** = Required

KNOW ALL MEN BY THESE PRESENTS THAT McCourt Construction Co. Inc as principal, and Western Surety Company, as surety, who is duly licensed to act as surety in the Commonwealth of Massachusetts, are held and firmly bound unto the Commonwealth of Massachusetts through MassDOT as obligee, in the penal sum of seventeen million five hundred thousand DOLLARS (not to be less than 5% of the bid price), lawful money of the United States of America, for the payment of which, well and truly to be made, we bind ourselves, our heirs, executors, administrators, successors and assigns, jointly and severally, firmly by these presents.

The condition of the above obligation is such that whereas the Principal has submitted to the Obligee /Owner a certain Bid, attached hereto and hereby made a part hereof, to enter into a contract in writing for the:

Bridge Deck Preservation of B-16-259 and B-16-260 on I-93 [BOSTON]

Name of Contract

NOW, THEREFORE, THE CONDITION OF THE ABOVE OBLIGATION is such, that if the bid shall be rejected or if the principal shall be awarded the contract for which the bid is submitted and shall execute the contract and give bond for the faithful performance thereof within fourteen (14) days after the award of same to the principal, then this obligation shall be null and void; but if the principal fails to so execute such contract and give performance bond as required by MGL Chapter 30,§39M, the surety shall, upon demand, forthwith pay to the obligee the amount set forth in the first paragraph hereof. The Surety for value received, hereby stipulates and agrees that the obligations of said Surety and its bond shall in no way be impaired or affected by any extension of time within which the Obligee/ Owner may accept the Bid and said Surety waives notice of any such extension. Provided further, that the bid may be withdrawn as provided by Section 2.07 of the Standard Specifications for Highways and Bridges latest edition.